
Polní cesty a PEO v k.ú. Kvítkovice u Otrokovic

SO 12 Záchytný průleh č.2

Výpočet kapacity příkopu
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š.dno= 0,05 m

sklony 1: 6,00
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0,20 0,00600 0,25 2,48 0,10068 0,03000 22,735 0,558793 0,139698

0,30 0,00600 0,56 3,70 0,15001 0,03000 24,298 0,728968 0,404577

0,40 0,00600 0,98 4,92 0,19934 0,03000 25,477 0,881086 0,863464

0,50 0,00600 1,53 6,13 0,24866 0,03000 26,433 1,02101 1,557041

0,60 0,00600 2,19 7,35 0,29799 0,03000 27,242 1,151912 2,522687

Q100 0,40 0,00600 0,98 4,92 0,19934 0,03000 25,477 0,881086 0,863464
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Průtočné množství (m3/s)
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